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LISTENING COMPREHENSION

9. (A) The first essay was better than the
second.
(B) The first and second drafts
couldn’t be better.
(C) The second draft of the essay was
much better than the first.
(D) Both versions were poorly written.

10. (A) Roger has been bothered.
(B) Roger wasn’t the least bit
disturbed.
(C) The problems have had little effect
on Roger.
(D) Roger hasn’t been disturbed.

SKkiLL 9: LISTEN FOR“ALMOST NEGATIVE” EXPRESSIONS

Certain expressions in English have “almost negative” meanings. These expressions are
common on the TOEFL test and need to be reviewed.

Example

On the recording, you hear:

(woman)
(man)
(narrator)

In your test book, you read:

Were you able to pay the electric bill?
I had barely enough money.
What does the man imply?

(A) He had plenty of money for the bill. |
(B) He did not have enough money for the bill. |
(C) He paid the bill but has no money left.
(D) He was unable to pay the bill.

the bill. However, it was barely enough, so he almost did not have enough and certainl
has no money left. The correct answer is therefore answer (C).

In the man’s statement, the word enough indicates that there was enough, so he did pay/
r
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almost none

There is ha}dly any food in the refrigerator.

~ hardly, Eqrely, sCarcély; bnl){ k

almost never | rarely, seldom

The following chart outlines common “almost negative” expressions: J
i

|

He rgéelf drivé“s:/'t;b work.

EXERCISE 9: ‘In this exercise, underline the “almost negative” expression in the second
line of each short conversation. Then read the question and choose the best answer. Re-

member that the best answer is one that means that it és frue but it is almost not true. \

1 hear that Mona’s been offered
the manager’s job.

i (man)

(woman) . But she has hardly any work
experience! :
(narrator) What does the woman say about

Mona?

(A) Mona hasn’t worked hard.

(B) Mona’s experience has been hard.
(C) Mona’s job as manager is hard.
(D) Mona hasn’t worked for very long.

2: (woman) How much time did Sam spend (A)
on his paper for economics
class? (B)
(man) Sam has seldom taken so much (C)
time on a research paper.
(narrator)  What does the man mean? (D)
3. (woman)  Does Steve usually park his car (A)
there?
(man) Only once has he parked his car (B)
in that lot. (C)
(narrator) What does the man mean?

TOEFL EXERCISE 9: In this exercise, listen carefully to the short conversation and ques-
tion in the recording program, and then choose the best answer to the question. You

LISTENING PART A

Sam usually spends this much time
on his schoolwork.

Sam has rarely worked so hard.

Sam took too much time on this
paper.

Sam should’ve worked harder on
this paper.

He parks his car there once in a
while.

He’s parked his car there a lot.

He only leaves his car there for
short periods of time.

He left his car there on just one
occasion.

should be particularly careful of “almost negative” expressions.

m NOW BEGIN THE RECORDING PROGRAM AT TOEFL EXERCISE 9.

1. (A) There’s little rain in July. 5. (A)
(B) InJuly it never rains.
(C) Itrains hard in July. (B)
(D) When it rains in July, it rains hard.
2. (A) The university accepted three ©
students. . (D)
(B) None of the students is going to
the university.
(C) John was not accepted. 6. (A)
(D) Two were not admitted.
3. (A) Although he did pass, Mark’s exam Eg;
grade wasn’t too good. (D)
(B) Mark failed his history exam.
(C) The highest grade on the history 7. (A)
exam went to Mark.
(D) ProfessorFranks didn’t pass Mark (B)
on the history exam. (C)
4. (A) He often has long waits in Dr. D)
Roberts’ office.
(B) He must wait patiently for Robert.
(C) Dr. Roberts is generally punctual. 8. (A)
(D) He doesn’t mind waiting for Dr. (B)
Roberts.
(€)
(D)

Betty often takes vacations in
winter.

Betty prefers to take vacations in
winter.

Occasionally Betty works one week
during vacation.

A winter vacation is unusual for
Betty.

He rarely spends time on his
courses.

He’s an excellent student.

He never studies.

His books are always open.

He finished the exam in plenty of
time.

He was scared he wouldn’t finish.

He used every possible minute to
finish.

He was unable to complete the
exam.

This was a very long staff meeting.

This was the only staff meeting in a
long time.

The meeting lasted only until one
o’clock.

The one staff meeting should’ve
lasted longer.
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